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Aufgabe 1

Gegeben: Graph der Funktion f : y = f(x)

Gesucht: Graph der Funktion g : y = f(x+ 2)− 3
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Aufgabe 2

h : y = −x2 ⇒ f : y = −(x− 2)2 + 4
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Verschiebe Gh
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Aufgabe 3

h : y = 1
4
x3 ⇒ f : y = 1

4
(x+ 3)3 + 1

x

y

3

3

Verschiebe Gh

um −3 in x-Richtung

um +1 in y-Richtung

GhGf

1



Aufgabe 4

h : y =
1

x
⇒ f : y =

1

x− 2
− 3
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Verschiebe Gh

um +2 in x-Richtung

um −3 in y-Richtung
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Aufgabe 5

f : y = x2 + 2x− 3

v⃗ =

(
4
3

)
⇒

x → x− 4

y → y − 3

y − 3 = (x− 4)2 + 2(x− 4)− 3

y − 3 = x2 − 8x+ 16 + 2x− 8− 3

y − 3 = x2 − 6x+ 5

g : y = x2 − 6x+ 8

Aufgabe 6

f : y =
√
2x+ 3

v⃗ =

(
−1
4

)
⇒

x → x+ 1

y → y − 4

y − 4 =
√
2(x+ 1) + 3

y − 4 =
√
2x+ 5

g : y =
√
2x+ 5− 4
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Aufgabe 7

f : y = x2 − 3x+ 5

yP = f(3) = 9− 9 + 5 = 5

Somit: P (3, 5) → Q(1, 8) mit v⃗ =

(
−2
3

)
x → x+ 2

y → y − 3

f : y = x2 − 3x+ 5y − 3 = (x+ 2)2 − 3(x+ 2) + 5

y − 3 = x2 + 4x+ 4− 3x− 6 + 5

g : y = x2 + x+ 6
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